> random1 <- tssem1(my.R, n, method="REM", RE.type="Diag")

> summary(random1)

Call:

meta(y = ES, v = acovR, RE.constraints = Diag(x = paste(RE.startvalues, 

    "*Tau2_", 1:no.es, "_", 1:no.es, sep = "")), RE.lbound = RE.lbound, 

    I2 = I2, model.name = model.name, suppressWarnings = TRUE, 

    silent = silent, run = run)

95% confidence intervals: z statistic approximation

Coefficients:

            Estimate Std.Error    lbound    ubound z value  Pr(>|z|)    

Intercept1 0.2843978 0.0301324 0.2253394 0.3434562  9.4383 < 2.2e-16 ***

Intercept2 0.2630114 0.0288971 0.2063742 0.3196486  9.1017 < 2.2e-16 ***

Intercept3 0.4261561 0.0339660 0.3595839 0.4927282 12.5465 < 2.2e-16 ***

Tau2_1_1   0.0374519 0.0088570 0.0200925 0.0548112  4.2285 2.352e-05 ***

Tau2_2_2   0.0327984 0.0074995 0.0180997 0.0474970  4.3734 1.223e-05 ***

Tau2_3_3   0.0535279 0.0116757 0.0306440 0.0764118  4.5846 4.549e-06 ***

---

Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

Q statistic on the homogeneity of effect sizes: 4377.405

Degrees of freedom of the Q statistic: 162

P value of the Q statistic: 0

Heterogeneity indices (based on the estimated Tau2):

                             Estimate

Intercept1: I2 (Q statistic)   0.7979

Intercept2: I2 (Q statistic)   0.7794

Intercept3: I2 (Q statistic)   0.9075

Number of studies (or clusters): 55

Number of observed statistics: 165

Number of estimated parameters: 6

Degrees of freedom: 159

-2 log likelihood: -27.34285 

OpenMx status1: 0 ("0" or "1": The optimization is considered fine.

Other values may indicate problems.)

> A1 <- create.mxMatrix(c(0, "0.2*AAA2CCC", "0.2*BBB2CCC",

+                         0, 0,  "0.2*AAA2BBB",

+                         0, 0, 0),

+                       type="Full", byrow=TRUE, ncol=3, nrow=3,

+                       as.mxMatrix=FALSE) 

> dimnames(A1)[[1]] <- dimnames(A1)[[2]] <- c("CCC","AAA","BBB")

> S1 <- create.mxMatrix ( c ("0.2*Error_CCC","0.2*Error_BBB",1), type="Diag", as.mxMatrix=FALSE)

> dimnames(S1)[[1]] <- dimnames(S1)[[2]] <- c("CCC","AAA","BBB")

> random2  <- tssem2 (random1, Amatrix=A1, Smatrix=S1,

+                     diag.constraints=TRUE, intervals.type="LB",

+                     mx.algebras= list ( indirect= mxAlgebra (AAA2BBB*BBB2CCC, name="indirect"),

+                                         direct= mxAlgebra (AAA2CCC, name="direct"),

+                                         total=mxAlgebra(AAA2BBB*BBB2CCC+AAA2CCC, 

+                                                         name="total")))

> summary(random2)

Call:

wls(Cov = pooledS, asyCov = asyCov, n = tssem1.obj$total.n, Amatrix = Amatrix, 

    Smatrix = Smatrix, Fmatrix = Fmatrix, diag.constraints = diag.constraints, 

    cor.analysis = cor.analysis, intervals.type = intervals.type, 

    mx.algebras = mx.algebras, model.name = model.name, suppressWarnings = suppressWarnings, 

    silent = silent, run = run)

95% confidence intervals: Likelihood-based statistic

Coefficients:

          Estimate Std.Error   lbound   ubound z value Pr(>|z|)

AAA2BBB   0.426156        NA 0.359584 0.492728      NA       NA

AAA2CCC   0.210552        NA 0.134369 0.285786      NA       NA

BBB2CCC   0.173283        NA 0.098633 0.246242      NA       NA

Error_BBB 0.818391        NA 0.757220 0.870699      NA       NA

Error_CCC 0.894544        NA 0.858510 0.925110      NA       NA

mxAlgebras objects (and their 95% likelihood-based CIs):

                  lbound   Estimate ubound

indirect[1,1] 0.04277507 0.07384575     NA

direct[1,1]           NA 0.21055202     NA

total[1,1]            NA 0.28439777     NA

Goodness-of-fit indices:

                                             Value

Sample size                                4049.00

Chi-square of target model                    0.00

DF of target model                            0.00

p value of target model                       0.00

Number of constraints imposed on "Smatrix"    2.00

DF manually adjusted                          0.00

Chi-square of independence model            298.75

DF of independence model                      3.00

RMSEA                                         0.00

RMSEA lower 95% CI                            0.00

RMSEA upper 95% CI                            0.00

SRMR                                          0.00

TLI                                           -Inf

CFI                                           1.00

AIC                                           0.00

BIC                                           0.00

OpenMx status1: 0 ("0" or "1": The optimization is considered fine.

Other values indicate problems.)

> library(semPlot)

> my.plot <- meta2semPlot(random2, manNames=c("CCC", "AAA", "BBB"))

> semPaths(my.plot, whatLabels="est", nCharNodes=10, layout="spring", color="green", edge.label.cex=1.2)
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